
C,+g= tz-57g *H3-J crn?

1

cui qrvcY
gp fub€

r\t)vcmc€r l3th

" t3.bq ,z
lcrn 7b.0crn

crn 5

p '= 1UO ry1ryi1'10I Slond0rd J

? * torcef area*

= lObL .511 in\Side f:uDf
rrY\ = /.ot sLL x l(56 Po

t I.o lSZZ x lO" Lga"
oP \ lol.3zz FPcv

2*tct

rn o_

oree

?,,.. 7 Pe*r-nAP-
a 1'1O mn46,

q. ll l.otbz'?.xlcb
r,2
L) t'0 i{ nl rvt\ffis!^

l\4A

qt

PtAterTrot P

Pi.lttrrr Cr\* P eXtet Y\A t

P. v = con6fcrrlt Boyle's \-e{t,ol

Pi ftgrnal
5. O crn 5 O. nnm Chor(es '5 uO yV ' 1' d / @

QP-95'emt
\/ e T Pressurf

1q O rnfnht

Pqsccr t

Pextern &^/le
n gc,,d ic.,rmptg € Corru'r*nr rernpero+".re"

{

T
3

OcrS LoW (tdeAl 6,a6 L{rW)

PV ". nT
Pv =r^ LT {=.W. ?"fiffi

U A= O'CKZI r- otrn/rnor KPinr '- Pexr ^ AP

r &i mrvr



W:rot- 
'S 

ttnc ry'essLlre fXcl'"fqj DY Vfi.A3 Ca l\Ovefnberl3t'
occup\i"rg bts.O t_ Ar Z1"e?

?u=n?T &= eosLt l:atrnf r{-Dt"K

nsT 2.oo

V

L.oornor o

=osl1sryv\P. ?

V
P ry1

h

f: L5'

o
L.OqO"IL

L
g r- 713 s L18p D= 0,111I ar"rvt

10f"3 2v4a

I a rN"n

0.??1fttr=n ha

flJle h/t f 273 He
flt CI Pre6st"tr_e wnFfs

?' g eir i I ArnA l,lL atrn
lbo mnn

v=4.5u
n' lmor = 5.5rnol n=

4 "oo 2b3

T=?

(TY CArcWafian

?v n MfVI

rna6sTffi {-
MF} = dRT

PV m? P
MM

v=l'l gT MM"w
d M M.P

T
tr CO{CE

€or cnallQ4: it, i
crruJnr\s,rSl'rcc s
"PseJ 

" Vf*fit*ffi
oylff\€. t4rCe.
fubr4'

fl,tr,

-

nL

Lv T= ll,LK IV



,,6F srdndard
,rn3k,lOtfn

rcnflPardfirr€
4 prfesvrg

25 c ovrd 11O mrnn 7

t3b
r

lvv\
unirs b'et-Weey\

to Wvt*U-1,4t- 2

+

xnos rc re

Pressur ar 35' 2

Lv

T13 tt

T

I
zqg pT

0

,)

T
->

&s ere

n

v'lo.5L



Chapter 10 Day 1 (Sections 10.1 -10.41
1. A manometer containing mercury in its well exhibits a

difference in mercury levels of 10.52 cm with the column
being higher on the arm open to the external
atmosphere. Sketch this arrangement. lf the external
pressure is 717 mmHg, what is the internal pressure in
mmHg?

(Unit 5) 13 November 2019
6. A sample of an unknown gas, thought to be pure, is

used to fill a 250.0 mL container. The mass of the gas
was determined to be 1 .132 g at 95 oC and 733 mmHg
What is the molar mass of the unknown gas? Could it
possibty be SF6(S)?

2. Convert the pressure you determined to units of kPa

3. What volume is occupied by 27.0 g CHa(9) at STp?

4. A sample of argon in a vessel exerts a pressure of 94.3
kPa at 300 K. What is the pressure at 450 oC?

5. What is the density of ammonia at 25 oC and 735
mmHg? Start by deriving the equation that you will use

Questions in final exam format (multiple choice):
7. A basketball is inflated to a pressure ol 21O atm in a

20.0 oC garage. What is the pressure of the basketball
outside where the temperature is -5.00 oC?

A. 1.92 atm 8.2.29 alm
C. 2.10 atm D. 2.50 atm

8. A 75.0 L steel tank at 20.0 oC contains acetylene gas,
C2H2, at a pressure oI 1 .20 atm. Assuming ideal
behavior, how many grams of acetylene are in the tank?
4.3.74 g B. 54.8 g

C. 97.3 9 D. 1425 9

9. What is the density of carbon monoxide gas at STP?
A. 0.510 g/L B.0.800 g/L

C. 1.96 g/L D. 1.25 glL

10. lf the pressure in a gas container that is connected to
an open-end U-tube manometer is 106 kPa and the
pressure ofthe atmosphere at the open end ofthe tube
is 700 mm Hg, the level of mercury in the tube will be

A. 95 mm higher in the arm open to the atmosphere.
B. 95 mm higher in the arm connected to the gas

cylinder.

C. 795 mm higher in the arm open to the atmosphere.

D. 795 mm higher in the arm connected to the gas
cylinder.

Preparing for the final exam. Go to our Chm 203 course
website and scroll down past the old exams and right
before the pictures. There is a link to 96 practice
questions (in three parts). Allow plenty of time! Do a few
every day and get help when you are stuck.

Now try these problems from the book:
Section 10.1 . (Gases and gas pressure) Problem 1-4,24,

26,34 - 46, even.
Section 10.2. (The gas laws) Problems 5,6.
Section 10.3. (ldealgas law) Problems 7 -10,48-62,

even.
Section 10.4. (Stoichiometric relationships) Problems 11 -

14,64 - 78, even.
Practice Test, page 411 , 1 - 6.


